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Fall 2000



Basic Ideas:

1. Covariances will be estimated via model.

2. With any standard model can develop easy
selection rule.

Uses:

1. Makes clear why security enters.

2. Useful in sensitivity analysis.

3. Easy calculation.



Example:

Assume ρρ =
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solving for 
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Then
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It can be shown that
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Note *C is a constant.  If short sales are not allowed,
summation goes to number in set not N.
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If single-index model:
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If short sales are not allowed, summation goes to
numbers that are held in positive proportion, not N.


